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LGSR Prefixes for Powers of Ten

Power Prefix Abbreviation Power Prefix Abbreviation
16~ yocto y 10° kilo k
104 zepto 4 10° mega M
1018 atto a 10 giga G
10~1° femto f 1012 tera T
1012 pico p 1015 peta P
107 nano n 108 exa I
109 micro L 102! zetta 7
10— milli m 1024 yotta Y
102 centi C
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WL RS Dimensions and Units of Four Derived Quantities

Quantity Area (A) Volume (V) Speed (v) Acceleration (a)
Dimensions [ L3 £

SI units m? m m/s
U.S. customary units ft> ft* ft/s







and swings back and forth in the plane of the paper. The

What can we say about the [requency of oscill:

Figure 1.1
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This car moves at
constant velocity (zero »
acceleration).

This car has a constant
acceleration in the 4
direction of its velocity.

This car has a
constant acceleration b
in the direction

opposite its velocity.
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The car moves to
the right between

positions @ and .
®
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The car moves to
the left between

positions © and @






TABLE 2.1

Position of the Car
at Various Times

Position t(s) x (m)
® 0 30
10 52
© 20 38
© 30 0
® 40 —37
® 50 —53
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*Initial velocity is zero
Let up be positive +Vy direction
*Use the kinematic equations

*Acceleration is
a,=-g=-9.80 m/s’
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* An object starts from rest at x; = 0 and moves for 10 s with
an acceleration of +2.0 cm/s?. For the next 20 s, the

acceleration is —1.0 cm/s?. What is position of the object at
the end of this motion?

Draw af(t), v(t), x(t)
graphical method?
mathematial method
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